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���� $EIlOOH�DXV�GHU�SK\VLNDOLVFKHQ�XQG�FKHPLVFKHQ
9HUDUEHLWXQJ�YRQ�PHWDOOKDOWLJHQ�%RGHQVFKlW]HQ

����� 5RWVFKODPP�DXV�GHU�$OXPLQLXPR[LGKHUVWHOOXQJ�PLW
$XVQDKPH�YRQ�5RWVFKODPP��GHU�XQWHU����������IlOOW

='

����� $EIlOOH�D�Q�J���QXU�$OXPLQLXPR[LGVFKOlPPH� ='

���� $EIlOOH�DXV�GHU�SK\VLNDOLVFKHQ�XQG�FKHPLVFKHQ
:HLWHUYHUDUEHLWXQJ�YRQ�QLFKWPHWDOOKDOWLJHQ�%R�
GHQVFKlW]HQ

����� $EIlOOH�YRQ�.LHV��XQG�*HVWHLQVEUXFK�PLW�$XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

����� $EIlOOH�YRQ�6DQG�XQG�7RQ ='

����� VWDXEHQGH�XQG�SXOYULJH�$EIlOOH�PLW�$XVQDKPH�GHU�
MHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

����� $EIlOOH�DXV�GHU�9HUDUEHLWXQJ�YRQ�.DOL��XQG�6WHLQVDO]
PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ

='

����� $XIEHUHLWXQJVU�FNVWlQGH� XQG� DQGHUH� $EIlOOH� DXV
GHU�:lVFKH�XQG�5HLQLJXQJ�YRQ�%RGHQVFKlW]HQ�PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������XQG������
���IDOOHQ�

='

����� $EIlOOH�DXV�6WHLQPHW]��XQG��VlJHDUEHLWHQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

���� %RKUVFKOlPPH�XQG�DQGHUH�%RKUDEIlOOH

����� 6FKOlPPH�XQG�$EIlOOH�DXV�6��ZDVVHUERKUXQJHQ ='

� $%)b//(� $86� /$1':,576&+$)7�� *$57(1�
%$8��7(,&+:,576&+$)7��)2567:,576&+$)7�
-$*'�81'�),6&+(5(,�62:,(�'(5�+(567(/�
/ 8 1 * � 8 1 ' � 9 ( 5 $ 5 % ( , 7 8 1 * � 9 2 1
1$+581*60,77(/1

��� $EIlOOH� DXV� /DQGZLUWVFKDIW�� *DUWHQEDX�� 7HLFK�
ZLUWVFKDIW��)RUVWZLUWVFKDIW��-DJG�XQG�)LVFKHUHL

����� 6FKOlPPH�YRQ�:DVFK��XQG�5HLQLJXQJVYRUJlQJHQ 09$

����� $EIlOOH�DXV�SIODQ]OLFKHP�*HZHEH 09$��.$�:h

����� .XQVWVWRIIDEIlOOH��RKQH�9HUSDFNXQJHQ� 09$

����� WLHULVFKH�$XVVFKHLGXQJHQ��*�OOH�-DXFKH�XQG�6WDOO�
PLVW��HLQVFKOLH�OLFK�YHUGRUEHQHV�6WURK���$EZlVVHU�
JHWUHQQW�JHVDPPHOW�XQG�H[WHUQ�EHKDQGHOW

.$�='��QXU�0LVW
XQG�6WURK

09$��.$�:$

����� $EIlOOH�DXV�GHU�)RUVWZLUWVFKDIW 09$

����� $EIlOOH�D�Q�J� .$�:h�
6FKODPP�DXV
GHU�*HZlVVHU�
UHLQLJXQJ��$E�
ILVFK���0lK��XQG
5HFKHQJXW

09$��.$�:h

��� $EIlOOH� DXV�GHU� =XEHUHLWXQJ�XQG�9HUDUEHLWXQJ
YRQ�)OHLVFK��)LVFK�XQG�DQGHUHQ�1DKUXQJVPLWWHOQ
WLHULVFKHQ�8UVSUXQJV

����� $EIlOOH�DXV�WLHULVFKHP�*HZHEH 09$

����� I�U�9HU]HKU�RGHU�9HUDUEHLWXQJ�XQJHHLJQHWH�6WRIIH 09$

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ

09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH� DXV�GHU� =XEHUHLWXQJ�XQG�9HUDUEHLWXQJ
YRQ�2EVW��*HP�VH��*HWUHLGH��6SHLVH|OHQ��.DNDR�
.DIIHH��7HH�XQG�7DEDN��DXV�GHU�.RQVHUYHQKHU�
VWHOOXQJ��GHU�+HUVWHOOXQJ�YRQ�+HIH��XQG�+HIHH[�
WUDNW�VRZLH�GHU�=XEHUHLWXQJ�XQG�)HUPHQWLHUXQJ
YRQ�0HODVVH�

����� 6FKOlPPH�DXV�:DVFK���5HLQLJXQJV���6FKlO���=HQ�
WULIXJLHU��XQG�$EWUHQQSUR]HVVHQ

09$

����� $EIlOOH�YRQ�.RQVHUYLHUXQJVVWRIIHQ 09$

����� $EIlOOH�DXV�GHU�([WUDNWLRQ�PLW�/|VHPLWWHOQ 09$

����� I�U�9HU]HKU�RGHU�9HUDUEHLWXQJ�XQJHHLJQHWH�6WRIIH 09$��.$�:h

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ

09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�GHU�=XFNHUKHUVWHOOXQJ

����� 5�EHQHUGH 09$��='

����� QLFKW� VSH]LILNDWLRQVJHUHFKWHU� &DOFLXPFDUERQDW�
VFKODPP

09$��='

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ

09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�GHU�0LOFKYHUDUEHLWXQJ

����� I�U�9HU]HKU�RGHU�9HUDUEHLWXQJ�XQJHHLJQHWH�6WRIIH 09$��.$�:h

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ

09$

����� $EIlOOH�D�Q�J� 09$
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��� $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�%DFN��XQG�6���
ZDUHQ

����� I�U�9HU]HKU�RGHU�9HUDUEHLWXQJ�XQJHHLJQHWH�6WRIIH 09$��.$�:h

����� $EIlOOH�YRQ�.RQVHUYLHUXQJVVWRIIHQ 09$

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ

09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�DONRKROLVFKHQ
XQG�DONRKROIUHLHQ�*HWUlQNHQ��RKQH�.DIIHH��7HH
XQG�.DNDR�

����� $EIlOOH� DXV� GHU� :lVFKH�� 5HLQLJXQJ� XQG� PHFKD�
QLVFKHQ�=HUNOHLQHUXQJ�GHV�5RKPDWHULDOV

09$

����� $EIlOOH�DXV�GHU�$ONRKROGHVWLOODWLRQ 09$��.$�:h

����� $EIlOOH�DXV�GHU�FKHPLVFKHQ�%HKDQGOXQJ 09$

����� I�U�9HU]HKU�RGHU�9HUDUEHLWXQJ�XQJHHLJQHWH�6WRIIH 09$��.$�:h

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ

09$

����� $EIlOOH�D�Q�J� 09$
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��� $EIlOOH� DXV� GHU� +RO]EHDUEHLWXQJ� XQG� GHU� +HU�
VWHOOXQJ�YRQ�3ODWWHQ�XQG�0|EHOQ

����� 5LQGHQ�XQG�.RUNDEIlOOH 09$��.$�:h

����� 6lJHPHKO�� 6SlQH�� $EVFKQLWWH�� +RO]�� 6SDQSODWWHQ
XQG�)XUQLHUH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ

09$��.$�:h

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH� DXV� GHU� +HUVWHOOXQJ� XQG� 9HUDUEHLWXQJ
YRQ�=HOOVWRII��3DSLHU��.DUWRQ�XQG�3DSSH

����� 5LQGHQ��XQG�+RO]DEIlOOH 09$��.$�:h

����� 6XOILWVFKOlPPH��DXV�GHU�5�FNJHZLQQXQJ�YRQ�.RFK�
ODXJHQ�

09$

����� 'H�LQNLQJ�6FKOlPPH�DXV�GHP�3DSLHUUHF\FOLQJ 09$

����� PHFKDQLVFK� JHWUHQQWH� $EIlOOH� DXV� GHU� $XIO|VXQJ
YRQ�3DSLHU��XQG�3DSSDEIlOOHQ

09$

����� $EIlOOH�DXV�GHP�6RUWLHUHQ�YRQ�3DSLHU�XQG�3DSSH�I�U
GDV�5HF\FOLQJ

09$

����� .DONVFKODPPDEIlOOH 09$

����� )DVHUDEIlOOH��)DVHU���)�OOHU��XQG�hEHU]XJVVFKOlP�
PH�DXV�GHU�PHFKDQLVFKHQ�$EWUHQQXQJ�

09$

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU������
���IDOOHQ�

09$

����� $EIlOOH�D�Q�J� 09$
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��� $EIlOOH�DXV�GHU�/HGHU��XQG�3HO]LQGXVWULH

����� )OHLVFKDEVFKDEXQJHQ�XQG�+lXWHDEIlOOH 09$

����� JHlVFKHUWHV�/HLPOHGHU� 09$

����� FKURPKDOWLJH� 6FKOlPPH�� LQVEHVRQGHUH� DXV� GHU
EHWULHEVHLJHQHQ�$EZDVVHUEHKDQGOXQJ

09$

����� FKURPIUHLH� 6FKOlPPH�� LQVEHVRQGHUH� DXV� GHU
EHWULHEVHLJHQHQ�$EZDVVHUEHKDQGOXQJ

09$

����� FKURPKDOWLJH� $EIlOOH� DXV� JHJHUEWHP� /HGHU
�$EVFKQLWWH��6FKOHLIVWDXE��)DO]VSlQH�

09$

����� $EIlOOH�DXV�GHU�=XULFKWXQJ�XQG�GHP�)LQLVK 09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�GHU�7H[WLOLQGXVWULH

����� $EIlOOH�DXV�9HUEXQGPDWHULDOLHQ��LPSUlJQLHUWH�7H[WL�
OLHQ��(ODVWRPHU��3ODVWRPHU�

09$

����� RUJDQLVFKH� 6WRIIH� DXV� 1DWXUVWRIIHQ� �]�%�� )HWWH�
:DFKVH�

09$

����� $EIlOOH�DXV�GHP�)LQLVK�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

09$

����� )DUEVWRIIH�XQG�3LJPHQWH�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

09$

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU������
���IDOOHQ�

09$

����� $EIlOOH�DXV�XQEHKDQGHOWHQ�7H[WLOIDVHUQ 09$

����� $EIlOOH�DXV�YHUDUEHLWHWHQ�7H[WLOIDVHUQ 09$

����� $EIlOOH�D�Q�J� 09$
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��� $EIlOOH�DXV�GHU�(UG|OUDIILQDWLRQ

����� %RGHQVFKOlPPH�DXV�7DQNV 09$

����� YHUVFK�WWHWHV�gO 09$
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����� |OKDOWLJH� 6FKOlPPH� DXV� %HWULHEVYRUJlQJHQ� XQG
,QVWDQGKDOWXQJ

09$

����� 6FKOlPPH�DXV�GHU
.HVVHOVSHLVHZDVVHUDXIEHUHLWXQJ

='

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�GHU�.RKOHS\URO\VH

����� DQGHUH�7HHUH 09$

���� $EIlOOH�DXV�(UGJDVUHLQLJXQJ�XQG��WUDQVSRUW

����� $EIlOOH�D�Q�J� QXU�PLQHUDOL�
VFKH�$EIlOOH
DXV�GHU�*DV�
UHLQLJXQJ

='
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��� $EIlOOH�DXV�+=9$�YRQ�6DO]HQ��6DO]O|VXQJHQ�XQG
0HWDOOR[LGHQ

����� IHVWH�6DO]H�XQG�/|VXQJHQ��GLH�6FKZHUPHWDOOH�HQW�
KDOWHQ�

09$

����� IHVWH�6DO]H�XQG�/|VXQJHQ�PLW�$XVQDKPH�GHUMHQL�
JHQ��GLH�XQWHU����������XQG����������IDOOHQ�

09$

����� 0HWDOOR[LGH��GLH�6FKZHUPHWDOOH�HQWKDOWHQ QXU�=LQQVWHLQ ='

����� 0HWDOOR[LGH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

='

��� $EIlOOH�DXV�DQRUJDQLVFKHQ�FKHPLVFKHQ�3UR]HV�
VHQ�D��Q��J�

����� YHUEUDXFKWH�$NWLYNRKOH��DX�HU���������� 09$

����� ,QGXVWULHUX� 09$��='

����� $EIlOOH�DXV�GHU�$VEHVWYHUDUEHLWXQJ ='
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��� $EIlOOH� DXV� +HUVWHOOXQJ�� =XEHUHLWXQJ�� 9HUWULHE
XQG� $QZHQGXQJ� �+=9$�� RUJDQLVFKHU� *UXQG�
FKHPLNDOLHQ

����� DQGHUH�5HDNWLRQV��XQG�'HVWLOODWLRQVU�FNVWlQGH ='��QXU�&DUELG�
VFKODPP��.DON�
VFKODPP�

09$��='

����� DQGHUH�)LOWHUNXFKHQ��JHEUDXFKWH�$XIVDXJPDWHULDOLHQ 09$

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ��GLH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ

09$

����� 6FKOlPPH� DXV� GHU� EHWULHEVHLJHQHQ� $EZDVVHUEH�
KDQGOXQJ� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH� XQWHU
�������IDOOHQ

09$

��� $EIlOOH� DXV� +=9$� YRQ� .XQVWVWRIIHQ�� V\QWKHWL�
VFKHP�*XPPL�XQG�.XQVWIDVHUQ

����� DQGHUH�5HDNWLRQV��XQG�'HVWLOODWLRQVU�FNVWlQGH 09$

����� .XQVWVWRIIDEIlOOH 09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�+=9$�YRQ�RUJDQLVFKHQ�)DUEVWRIIHQ
XQG�3LJPHQWHQ��DX�HU�������

����� DQGHUH�5HDNWLRQV��XQG�'HVWLOODWLRQVU�FNVWlQGH 09$

����� DQGHUH�)LOWHUNXFKHQ��JHEUDXFKWH�$XIVDXJPDWHULDOLHQ 09$

��� $EIlOOH�DXV�+=9$�YRQ�3KDUPD]HXWLND

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH� DXV�+=9$� YRQ� )HWWHQ�� 6FKPLHUVWRIIHQ�
6HLIHQ��:DVFKPLWWHOQ��'HVLQIHNWLRQVPLWWHOQ�XQG
.|USHUSIOHJHPLWWHOQ

����� DQGHUH�5HDNWLRQV��XQG�'HVWLOODWLRQVU�FNVWlQGH 09$

����� $EIlOOH�D�Q�J� 09$

� $%)b//(�$86�+=9$�921�%(6&+,&+781*(1
�)$5%(1�� /$&.(1�� (0$,/��� ./(%672))(1�
',&+70$66(1�81'�'58&.)$5%(1

��� $EIlOOH�DXV�+=9$�XQG�(QWIHUQXQJ�YRQ�)DUEHQ
XQG�/DFNHQ

����� )DUE�� XQG� /DFNDEIlOOH�� GLH� RUJDQLVFKH� /|VHPLWWHO
RGHU�DQGHUH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ

09$

����� )DUE��XQG�/DFNDEIlOOH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH
XQWHU����������IDOOHQ�

09$

����� )DUE��XQG�/DFNVFKOlPPH��GLH�RUJDQLVFKH�/|VHPLWWHO
RGHU�DQGHUH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ

09$

����� )DUE��XQG�/DFNVFKOlPPH�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

09$

����� ZlVVULJH�6FKOlPPH��GLH�)DUEHQ�RGHU�/DFNH�HQWKDO�
WHQ��PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���������
IDOOHQ�

09$

����� $EIlOOH�DXV�GHU�)DUE��RGHU�/DFNHQWIHUQXQJ��GLH�RU�
JDQLVFKH�/|VHPLWWHO�RGHU�DQGHUH�JHIlKUOLFKH�6WRIIH
HQWKDOWHQ

09$

����� $EIlOOH�DXV�GHU�)DUE��RGHU�/DFNHQWIHUQXQJ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$



�����
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����� ZlVVULJH� 6XVSHQVLRQHQ�� GLH� )DUEHQ� RGHU� /DFNH
HQWKDOWHQ�� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH� XQWHU
�������IDOOHQ

09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH�DXV�+=9$�DQGHUHU�%HVFKLFKWXQJHQ��HLQ�
VFKOLH�OLFK�NHUDPLVFKHU�:HUNVWRIIH�

����� $EIlOOH�YRQ�%HVFKLFKWXQJVSXOYHU 09$

����� ZlVVULJH� 6FKOlPPH�� GLH� NHUDPLVFKH� :HUNVWRIIH
HQWKDOWHQ

='

��� $EIlOOH�DXV�+=9$�YRQ�'UXFNIDUEHQ

����� 'UXFNIDUEHQDEIlOOH��GLH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ 09$

����� 'UXFNIDUEHQDEIlOOH� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������IDOOHQ�

09$

����� 'UXFNIDUEHQVFKOlPPH�� GLH� JHIlKUOLFKH�6WRIIH� HQW�
KDOWHQ�

09$

����� 'UXFNIDUEHQVFKOlPPH� PLW� $XVQDKPH� GHUMHQLJHQ�
GLH�XQWHU��������IDOOHQ

09$

����� 7RQHUDEIlOOH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

09$

����� $EIlOOH�D�Q�J� 09$

��� $EIlOOH� DXV� +=9$� YRQ� .OHEVWRIIHQ� XQG� 'LFKW�
PDVVHQ��HLQVFKOLH�OLFK�ZDVVHUDEZHLVHQGHU�0D�
WHULDOLHQ�

����� .OHEVWRII��XQG�'LFKWPDVVHQDEIlOOH��GLH�RUJDQLVFKH
/|VHPLWWHO�RGHU�DQGHUH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ

09$

����� .OHEVWRII�� XQG� 'LFKWPDVVHQDEIlOOH� PLW� $XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$

����� NOHEVWRII�� XQG� GLFKWPDVVHQKDOWLJH� 6FKOlPPH�� GLH
RUJDQLVFKH� /|VHPLWWHO� RGHU� DQGHUH� JHIlKUOLFKH
6WRIIH�HQWKDOWHQ

09$

����� ZlVVULJH�6FKOlPPH��GLH�.OHEVWRIIH�RGHU�'LFKWPDV�
VHQ�HQWKDOWHQ��PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU
���������IDOOHQ�

09$

����� $EIlOOH�D�Q�J� 09$

� $%)b//(�$86�'(5�)272*5$),6&+(1� ,1'8�
675,(

��� $EIlOOH�DXV�GHU�IRWRJUDILVFKHQ�,QGXVWULH

����� VLOEHUKDOWLJH� $EIlOOH� DXV� GHU� EHWULHEVHLJHQHQ
%HKDQGOXQJ�IRWRJUDILVFKHU�$EIlOOH

09$

����� )LOPH� XQG� IRWRJUDILVFKH� 3DSLHUH�� GLH� 6LOEHU� RGHU
6LOEHUYHUELQGXQJHQ�HQWKDOWHQ

09$

����� )LOPH�XQG�IRWRJUDILVFKH�3DSLHUH��GLH�NHLQ�6LOEHU�XQG
NHLQH�6LOEHUYHUELQGXQJHQ�HQWKDOWHQ

09$

����� (LQZHJNDPHUDV�RKQH�%DWWHULHQ 09$

����� $EIlOOH�D�Q�J� 09$

�� $%)b//(�$86�7+(50,6&+(1�352=(66(1

���� $EIlO OH � DXV� .UDI WZHUNHQ� XQG� DQGHUHQ
9HUEUHQQXQJVDQODJHQ��DX�HU����

������ 5RVW��XQG�.HVVHODVFKH��6FKODFNHQ�XQG�.HVVHOVWDXE
�PLW�$XVQDKPH�YRQ�.HVVHOVWDXE��GHU�XQWHU���������
IlOOW�

='

������ )LOWHUVWlXEH�DXV�.RKOHIHXHUXQJ ='

������ )LOWHUVWlXEH� DXV� 7RUIIHXHUXQJ� XQG� )HXHUXQJ� PLW
�XQEHKDQGHOWHP��+RO]

='

������ )LOWHUVWlXEH�XQG�.HVVHOVWDXE�DXV�gOIHXHUXQJ� ='

������ 5HDNWLRQVDEIlOOH� DXI� .DO]LXPEDVLV� DXV� GHU
5DXFKJDVHQWVFKZHIHOXQJ�LQ�IHVWHU�)RUP

='

������ 5RVW��XQG�.HVVHODVFKH��6FKODFNHQ�XQG�.HVVHOVWDXE
DXV�GHU�$EIDOOPLWYHUEUHQQXQJ�PLW�$XVQDKPH�GHUMH�
QLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ )LOWHUVWlXEH�DXV�GHU�0LWYHUEUHQQXQJ�PLW�$XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ ZlVVULJH� 6FKOlPPH� DXV� GHU� .HVVHOUHLQLJXQJ� PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

QXU�.HVVHOVWHLQ ='

���� $EIlOOH�DXV�GHU�(LVHQ��XQG�6WDKOLQGXVWULH

������ $EIlOOH�DXV�GHU�9HUDUEHLWXQJ�YRQ�6FKODFNH ='

������ XQYHUDUEHLWHWH�6FKODFNH ='

������ $EIlOOH� DXV� GHU� $EJDVEHKDQGOXQJ�PLW� $XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ :DO]]XQGHU ='

������ DQGHUH�6FKOlPPH�XQG�)LOWHUNXFKHQ ='

���� $EIlOOH� DXV� GHU� WKHUPLVFKHQ� $OXPLQLXP�
�0HWDOOXUJLH

������ $QRGHQVFKURWW 09$

������ WHHUKDOWLJH�$EIlOOH�DXV�GHU�$QRGHQKHUVWHOOXQJ 09$

������ $EIlOOH�DXV�GHU�$QRGHQKHUVWHOOXQJ�GLH�.RKOHQVWRIIH
HQWKDOWHQ��PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

09$

������ $EIlOOH�D�Q�J� 09$

���� $EIlOOH�DXV�GHU�WKHUPLVFKHQ�%OHLPHWDOOXUJLH



�����
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������ 6FKODFNHQ�DXV�GHU�(UVW��XQG�=ZHLWVFKPHO]H ='

���� $EIlOOH�DXV�GHU�WKHUPLVFKHQ�=LQNPHWDOOXUJLH

������ 6FKODFNHQ��(UVW��XQG�=ZHLWVFKPHO]H� ='

���� $EIlOOH�DXV�GHU�WKHUPLVFKHQ�.XSIHUPHWDOOXUJLH

������ 6FKODFNHQ��(UVW��XQG�=ZHLWVFKPHO]H� ='

���� $EIlOOH�DXV�GHU�WKHUPLVFKHQ�6LOEHU���*ROG��XQG
3ODWLQPHWDOOXUJLH

������ 6FKODFNHQ��(UVW��XQG�=ZHLWVFKPHO]H� ='

���� $EIlOOH� DXV� VRQVWLJHU� WKHUPLVFKHU� 1LFKWHLVHQ�
PHWDOOXUJLH

������ 6DO]VFKODFNHQ��(UVW��XQG�=ZHLWVFKPHO]H� ='

������ DQGHUH�6FKODFNHQ ='

���� $EIlOOH�YRP�*LH�HQ�YRQ�(LVHQ�XQG�6WDKO

������ 2IHQVFKODFNH ='

������ *LH�IRUPHQ�XQG��VDQGH�YRU�GHP�*LH�HQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ *LH�IRUPHQ�XQG��VDQGH�QDFK�GHP�*LH�HQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

���� $EIlOOH�YRP�*LH�HQ�YRQ�1LFKWHLVHQPHWDOOHQ

������ 2IHQVFKODFNH ='

������ *LH�IRUPHQ�XQG��VDQGH�YRU�GHP�*LH�HQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ *LH�IRUPHQ�XQG��VDQGH�QDFK�GHP�*LH�HQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ $EIlOOH�D�Q�J� QXU�)RUPOHKP�
DEIlOOH

='

���� $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�*ODV�XQG�*ODV�
HU]HXJQLVVHQ

������ *ODVIDVHUDEIDOO ='

������ 7HLOFKHQ�XQG�6WDXE ='

������ *ODVDEIDOO�PLW�$XVQDKPH�GHVMHQLJHQ��GHU�XQWHU���
������IlOOW�

='

������ *ODVSROLHU��XQG�*ODVVFKOHLIVFKOlPPH�PLW�$XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$��='

���� $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�.HUDPLNHU]HXJ�
QLVVHQ�XQG�NHUDPLVFKHQ�%DXVWRIIHQ�ZLH�=LHJHOQ�
)OLHVHQ��6WHLQ]HXJ

������ 5RKPLVFKXQJHQ�YRU�GHP�%UHQQHQ ='

������ 7HLOFKHQ�XQG�6WDXE ='

������ $EIlOOH�DXV�.HUDPLNHU]HXJQLVVHQ��=LHJHOQ��)OLHVHQ
XQG�6WHLQ]HXJ��QDFK�GHP�%UHQQHQ�

='

������ $EIlOOH�D�Q�J� QXU�6FKOlPPH
DXV�GHU�.DON�
VDQGVWHLQIDEUL�
NDWLRQ

='

���� $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�=HPHQW��%UDQQW�
NDON��*LSV�XQG�(U]HXJQLVVHQ�DXV�GLHVHQ

������ $EIlOOH�YRQ�5RKJHPHQJH�YRU�GHP�%UHQQHQ ='

������ $EIlOOH�DXV�GHU�.DO]LQLHUXQJ�XQG�+\GUDWLVLHUXQJ�YRQ
%UDQQWNDON

='

������ 7HLOFKHQ�XQG�6WDXE��DX�HU����������XQG���������� ='

������ DVEHVWKDOWLJH�$EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�$V�
EHVW]HPHQW

='

������ $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�$VEHVW]HPHQW�PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ $EIlOOH�DXV�GHU�+HUVWHOOXQJ�DQGHUHU�9HUEXQGVWRIIH
DXI� =HPHQWEDVLV� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������XQG����������IDOOHQ�

='

������ %HWRQDEIlOOH�XQG�%HWRQVFKOlPPH ='

������ $EIlOOH�D�Q�J� QXU�*LSV�
VFKODPP

='

�� $%)b//(� $86� '(5�&+(0,6&+(1�2%(5)/b�
&+(1%($5%(,781*� 81'� %(6&+,&+781*
921�0(7$//(1�81'�$1'(5(1�:(5.672)�
)(1��1,&+7(,6(1�+<'520(7$//85*,(

���� $EIlOOH�DXV�GHU�FKHPLVFKHQ�2EHUIOlFKHQEHDUEHL�
WXQJ�XQG�%HVFKLFKWXQJ�YRQ�0HWDOOHQ�XQG�DQGH�
UHQ� :HUNVWRIIHQ� �]�� %�� *DOYDQLN�� 9HU]LQNXQJ�
%HL]HQ��bW]HQ��3KRVSKDWLHUHQ��DONDOLVFKHV�(QW�
IHWWHQ�XQG�$QRGLVLHUXQJ�

������ 6FKOlPPH�XQG�)LOWHUNXFKHQ�PLW�$XVQDKPH�GHUMHQL�
JHQ��GLH�XQWHU����������IDOOHQ�

QXU�$OXPLQLXP�
K\GUR[LG�XQG
(LVHQK\GUR[LG

='

���� $EIlOOH�DXV�3UR]HVVHQ�GHU
1LFKWHLVHQ�+\GURPHWDOOXUJLH

������ $EIlOOH�DXV�GHU�+HUVWHOOXQJ�YRQ�$QRGHQ�I�U�ZlVV�
ULJH�HOHNWURO\WLVFKH�3UR]HVVH

='��QXU�*UDSKLW�
VFKODPP

09$��='
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�� $%)b//(� $86� 352=(66(1� '(5� 0(&+$1,�
6&+(1�)250*(%81*�62:,(�'(5�3+<6,.$�
/ , 6 & + ( 1 � 8 1 ' � 0 ( & + $ 1 , 6 & + ( 1
2%(5)/b&+(1%($5%(,781*�921�0(7$//(1
81'�.8167672))(1

���� $EIlOOH�DXV�3UR]HVVHQ�GHU�PHFKDQLVFKHQ�)RUP�
JHEXQJ�VRZLH�GHU� SK\VLNDOLVFKHQ�XQG�PHFKD�
QLVFKHQ� 2EHUIOlFKHQEHDUEHLWXQJ� YRQ� 0HWDOOHQ
XQG�.XQVWVWRIIHQ

������ (LVHQVWDXE�XQG��WHLOH ='

������ .XQVWVWRIIVSlQH�XQG��GUHKVSlQH 09$

������ JHEUDXFKWH�:DFKVH�XQG�)HWWH 09$

������ %HDUEHLWXQJVVFKOlPPH��GLH�JHIlKUOLFKH�6WRIIH�HQW�
KDOWHQ�

09$

������ %HDUEHLWXQJVVFKOlPPH�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

09$

������ 6WUDKOPLWWHODEIlOOH��GLH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ� ='

������ 6WUDKOPLWWHODEIlOOH� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������IDOOHQ�

='

������ JHEUDXFKWH�+RQ�� XQG� 6FKOHLIPLWWHO�PLW� $XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$��='

�� g/$%)b//(� 81'� $%)b//(� $86� )/h66,*(1
%5(11672))(1��$8�(5�63(,6(g/(�81'�g/�
$%)g//(��',(�817(5�',(�.$3,7(/��������81'
���)$//(1�

���� ,QKDOWH�YRQ�gO��:DVVHUDEVFKHLGHUQ

������ IHVWH� $EIlO OH� DXV� 6DQGIDQJDQ ODJHQ� XQG
gO��:DVVHUDEVFKHLGHUQ�

09$

������ 6FKOlPPH�DXV�gO��:DVVHUDEVFKHLGHUQ 09$

������ 6FKOlPPH�DXV�(LQODXIVFKlFKWHQ 09$

������ $EIDOOJHPLVFKH� DXV� 6DQGIDQJDQODJHQ� XQG
gO��:DVVHUDEVFKHLGHUQ�

09$

�� $%)b//(�$86�25*$1,6&+(1�/g6(0,77(/1�
.h+/0,77(/1�81'�75(,%*$6(1��$866(5���
81'����

���� $EIlOOH�DXV�RUJDQLVFKHQ�/|VHPLWWHOQ��.�KOPLW�
WHOQ�VRZLH�6FKDXP��XQG�$HURVROWUHLEJDVHQ�

������ 6FKOlPPH�RGHU�IHVWH�$EIlOOH��GLH�DQGHUH�/|VHPLWWHO
HQWKDOWHQ

09$

�� 9(53$&.81*6$%)$//�� $8)6$8*0$66(1�
:,6&+7h&+(5�� ),/7(50$7(5,$/,(1� 81'
6&+87=./(,'81*��$�1�*��

���� 9HUSDFNXQJHQ� �HLQVFKOLH�OLFK�JHWUHQQW�JHVDP�
PHOWHU�NRPPXQDOHU�9HUSDFNXQJVDEIlOOH�

������ 9HUSDFNXQJHQ�DXV�3DSLHU�XQG�3DSSH 09$

������ 9HUSDFNXQJHQ�DXV�.XQVWVWRII 09$

������ 9HUSDFNXQJHQ�DXV�+RO] 09$��.$�:h

������ 9HUSDFNXQJHQ�DXV�0HWDOO 09$��='

������ 9HUEXQGYHUSDFNXQJHQ 09$

������ JHPLVFKWH�9HUSDFNXQJHQ 09$

������ 9HUSDFNXQJHQ�DXV�*ODV ='

������ 9HUSDFNXQJHQ�DXV�7H[WLOLHQ 09$

������ 9HUSDFNXQJHQ��GLH�5�FNVWlQGH�JHIlKUOLFKHU�6WRIIH
HQWKDOWHQ�RGHU�GXUFK�JHIlKUOLFKH�6WRIIH�YHUXQUHLQLJW
VLQG

09$

���� $XIVDXJ��XQG�)LOWHUPDWHULDOLHQ��:LVFKW�FKHU�XQG
6FKXW]NOHLGXQJ

������ $XIVDXJ��XQG�)LOWHUPDWHULDOLHQ��HLQVFKOLH�OLFK�gOILOWHU
D�Q�J����:LVFKW�FKHU�XQG�6FKXW]NOHLGXQJ��GLH�GXUFK
JHIlKUOLFKH�6WRIIH�YHUXQUHLQLJW�VLQG

09$

������ $XIVDXJ�� XQG� )LOWHUPDWHULDOLHQ�� :LVFKW�FKHU� XQG
6FKXW]NOHLGXQJ�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU
���������IDOOHQ�

09$��='

�� $%)b//(�� ',(� 1,&+7� $1'(56:2� ,0� 9(5�
=(,&+1,6�$8)*()h+57�6,1'

���� $OWIDKU]HXJH�YHUVFKLHGHQHU�9HUNHKUVWUlJHU��HLQ�
VFKOLH�OLFK�PRELOHU�0DVFKLQHQ��XQG�$EIlOOH�DXV
GHU� 'HPRQWDJH� YRQ� $OWIDKU]HXJHQ� VRZLH� GHU
)DKU]HXJZDUWXQJ��DX�HU���������������XQG�������

������ $OWUHLIHQ 09$

������ gOILOWHU 09$

������ .XQVWVWRIIH 09$

���� $EIlOOH� DXV� HOHNWULVFKHQ� XQG� HOHNWURQLVFKHQ
*HUlWHQ

������ JHEUDXFKWH�*HUlWH��GLH�IUHLHV�$VEHVW�HQWKDOWHQ QXU�1DFKWVSHL�
FKHU|IHQ

='

������ JHEUDXFKWH�*HUlWH�PLW� $XVQDKPH�GHUMHQLJHQ�� GLH
XQWHU��������ELV��������IDOOHQ

09$

������ DXV�JHEUDXFKWHQ�*HUlWHQ�HQWIHUQWH�%HVWDQGWHLOH�PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ

09$

���� $EIlOOH�DXV�GHU�5HLQLJXQJ�YRQ�7UDQVSRUW��XQG
/DJHUWDQNV�XQG�)lVVHUQ��DX�HU����XQG����



�����
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������ |OKDOWLJH�$EIlOOH� 09$

���� *HEUDXFKWH�.DWDO\VDWRUHQ

������ JHEUDXFKWH�.DWDO\VDWRUHQ��GLH�*ROG��6LOEHU��5KHQL�
XP��5KRGLXP��3DOODGLXP��,ULGLXP�RGHU�3ODWLQ�HQWKDO�
WHQ��DX�HU����������

09$

������ JHEUDXFKWH� .DWDO\VDWRUHQ�� GLH� hEHUJDQJVPHWDOOH
RGHU��EHUJDQJVPHWDOOKDOWLJH�9HUELQGXQJHQ�HQWKDO�
WHQ��D�Q�J�

09$

������ JHEUDXFKWH� .DWDO\VDWRUHQ� YRQ� &UDFNSUR]HVVHQ
�DX�HU����������

09$

���� :lVVULJH�IO�VVLJH�$EIlOOH�]XU�H[WHUQHQ�%HKDQG�
OXQJ�

������ ZlVVULJH�IO�VVLJH�$EIlOOH�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

09$

������ ZlVVULJH�.RQ]HQWUDWH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH
XQWHU����������IDOOHQ�

09$

���� *HEUDXFKWH�$XVNOHLGXQJHQ�XQG�IHXHUIHVWH�0DWH�
ULDOLHQ

������ $XVNOHLGXQJHQ� XQG� IHXHUIHVWH� 0DWHULDOLHQ� DXI
.RKOHQVWRIIEDVLV�DXV�PHWDOOXUJLVFKHQ�3UR]HVVHQ�PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$

������ DQGHUH� $XVNOHLGXQJHQ� XQG� IHXHUIHVWH� 0DWHULDOLHQ
DXV�PHWDOOXUJLVFKHQ�3UR]HVVHQ�PLW�$XVQDKPH�GHU�
MHQLJHQ��GLH�XQWHU����������IDOOHQ�

='

������ $XVNOHLGXQJHQ�XQG�IHXHUIHVWH�0DWHULDOLHQ�DXV�QLFKW�
PHWDOOXUJLVFKHQ�3UR]HVVHQ�PLW�$XVQDKPH�GHUMHQL�
JHQ��GLH�XQWHU����������IDOOHQ�

='

�� %$8�� 81'� $%%58&+$%)b//(� �(,16&+/,(��
/,&+�$86+8%�921�9(5815(,1,*7(1�67$1'�
257(1�

���� %HWRQ��=LHJHO��)OLHVHQ�XQG�.HUDPLN

������ %HWRQ ='

������ =LHJHO ='

������ )OLHVHQ��=LHJHO�XQG�.HUDPLN ='

������ *HPLVFKH�DXV�RGHU�JHWUHQQWH�)UDNWLRQHQ�YRQ�%H�
WRQ��=LHJHOQ��)OLHVHQ�XQG�.HUDPLN��GLH�JHIlKUOLFKH
6WRIIH�HQWKDOWHQ�

='

������ *HPLVFKH�DXV�%HWRQ��=LHJHOQ��)OLHVHQ�XQG�.HUDPLN
PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ

09$��='

���� +RO]��*ODV�XQG�.XQVWVWRII

������ +RO] 09$

������ *ODV ='

������ .XQVWVWRII 09$

������ *ODV�� .XQVWVWRII� XQG� +RO]�� GLH� JHIlKUOLFKH� 6WRIIH
HQWKDOWHQ�RGHU�GXUFK�JHIlKUOLFKH�6WRIIH�YHUXQUHLQLJW
VLQG

='��QXU�*ODV�
DEIlOOH

09$��='

���� %LWXPHQJHPLVFKH�� .RKOHQWHHU� XQG� WHHUKDOWLJH
3URGXNWH

������ NRKOHQWHHUKDOWLJH�%LWXPHQJHPLVFKH 09$��='

������ %LWXPHQJHPLVFKH� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������IDOOHQ�

09$��='

������ .RKOHQWHHU�XQG�WHHUKDOWLJH�3URGXNWH 09$

���� 0HWDOOH��HLQVFKOLH�OLFK�/HJLHUXQJHQ�

������ .DEHO�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���������
IDOOHQ�

='

���� %RGHQ��HLQVFKOLH�OLFK�$XVKXE�YRQ�YHUXQUHLQLJ�
WHQ�6WDQGRUWHQ���6WHLQH�XQG�%DJJHUJXW

������ %RGHQ�XQG�6WHLQH��GLH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ 09$��='

������ %RGHQ� XQG� 6WHLQH�PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������IDOOHQ�

09$��='

������ %DJJHUJXW��GDV�JHIlKUOLFKH�6WRIIH�HQWKlOW 09$��='

������ %DJJHUJXW�PLW�$XVQDKPH�GHVMHQLJHQ��GDV�XQWHU���
������IlOOW�

09$��='

������ *OHLVVFKRWWHU��GHU�JHIlKUOLFKH�6WRIIH�HQWKlOW 09$��='

������ *OHLVVFKRWWHU�PLW�$XVQDKPH�GHVMHQLJHQ��GHU�XQWHU
���������IlOOW�

09$��='

���� 'lPPPDWHULDO�XQG�DVEHVWKDOWLJH�%DXVWRIIH

������ 'lPPPDWHULDO��GDV�$VEHVW�HQWKlOW ='

������ DQGHUHV�'lPPPDWHULDO��GDV�DXV�JHIlKUOLFKHQ�6WRI�
IHQ�EHVWHKW�RGHU�VROFKH�6WRIIH�HQWKlOW�

09$��='

������ 'lPPPDWHULDO�PLW�$XVQDKPH�GHVMHQLJHQ��GDV�XQWHU
���������XQG����������IlOOW

09$��='

������ DVEHVWKDOWLJH�%DXVWRIIH ='

���� %DXVWRIIH�DXI�*LSVEDVLV

������ %DXVWRIIH�DXI�*LSVEDVLV��GLH�GXUFK�JHIlKUOLFKH�6WRI�
IH�YHUXQUHLQLJW�VLQG

='

������ %DXVWRIIH�DXI�*LSVEDVLV�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

='

���� 6RQVWLJH�%DX��XQG�$EEUXFKDEIlOOH



�����
&RGH %H]HLFKQXQJ %HPHUNXQJ $QODJH

������ VRQVWLJH� %DX�� XQG� $EEUXFKDEIlOOH� �HLQVFKOLH�OLFK
JHPLVFKWH�$EIlOOH���GLH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ

09$��='

������ JHPLVFKWH�%DX��XQG�$EEUXFKDEIlOOH�PLW�$XVQDKPH
GHUMHQLJHQ��GLH�XQWHU��������������������XQG������
���IDOOHQ�

='��QXU�PLQHUD�
OLVFKH�)UDNWLRQ

09$��='

�� $%)b//(� $86� '(5� +80$10(',=,1,6&+(1
2'(5� 7,(5b5=7/,&+(1� 9(5625*81*� 81'
)256&+81* � �2+1( � .h&+(1 � � 81'
5(67$85$17$%)b//(�� ',(� 1,&+7� $86� '(5
810 ,77(/%$5(1 � .5$1.(13)/(*(
67$00(1�

���� $EIlOOH�DXV�GHU�*HEXUWVKLOIH��'LDJQRVH��%HKDQG�
OXQJ� RGHU� 9RUEHXJXQJ� YRQ� .UDQNKHLWHQ� EHLP
0HQVFKHQ

������ VSLW]H�RGHU�VFKDUIH�*HJHQVWlQGH��DX�HU���������� 09$

������ $EIlOOH��DQ�GHUHQ�6DPPOXQJ�XQG�(QWVRUJXQJ�DXV
LQIHNWLRQVSUlYHQWLYHU� 6LFKW� NHLQH� EHVRQGHUHQ� $Q�
IRUGHUXQJHQ�JHVWHOOW�ZHUGHQ��]��%��:XQG��XQG�*LSV�
YHUElQGH��:lVFKH��(LQZHJNOHLGXQJ��:LQGHOQ�

09$

������ &KHPLNDOLHQ�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

09$

������ $U]QHLPLWWHO�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

09$

���� $E I l O O H � D X V � ) R U V F K X Q J � � ' L D J Q R V H �
.UDQNHQEHKDQGOXQJ�XQG�9RUVRUJH�EHL�7LHUHQ

������ VSLW]H� RGHU� VFKDUIH� *HJHQVWlQGH� PLW� $XVQDKPH
GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$

������ $EIlOOH�� DQ�GHUHQ�6DPPOXQJ�XQG�(QWVRUJXQJ�DXV
LQIHNWLRQVSUlYHQWLYHU� 6LFKW� NHLQH� EHVRQGHUHQ� $Q�
IRUGHUXQJHQ�ZHUGHQ

09$

������ &KHPLNDOLHQ��GLH�DXV�JHIlKUOLFKHQ�6WRIIHQ�EHVWHKHQ
RGHU�VROFKH�HQWKDOWHQ

09$

������ &KHPLNDOLHQ�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

09$

�� $%)b//(� $86� $%)$//%(+$1'/81*6$1/$�
*(1�� g))(17/,&+(1� $%:$66(5%(+$1'�
/81*6$1/$*(1�62:,(�'(5�$8)%(5(,781*
921�:$66(5�)h5�'(1�0(16&+/,&+(1�*(�
%5$8&+� 81'� :$66(5� )h5� ,1'8675,(//(
=:(&.(

���� $EIlOOH�DXV�GHU�9HUEUHQQXQJ�RGHU�3\URO\VH�YRQ
$EIlOOHQ

������ 5RVW��XQG�.HVVHODVFKHQ�VRZLH�6FKODFNHQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$��='

���� 6WDELOLVLHUWH�XQG�YHUIHVWLJWH�$EIlOOH

������ VWDELOLVLHUWH�$EIlOOH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH
XQWHU����������IDOOHQ�

09$

������ VWDELOLVLHUWH�$EIlOOH�PLW�$XVQDKPH�GHUMHQLJHQ��GLH
XQWHU����������IDOOHQ�

09$

���� $EIlOOH�DXV�GHU�DHUREHQ�%HKDQGOXQJ�YRQ�IHVWHQ
$EIlOOHQ

������ QLFKW� NRPSRVWLHUWH� )UDNWLRQ� YRQ� 6LHGOXQJV�� XQG
lKQOLFKHQ�$EIlOOHQ

09$

������ QLFKW� NRPSRVWLHUWH� )UDNWLRQ� YRQ� WLHULVFKHQ� XQG
SIODQ]OLFKHQ�$EIlOOHQ

09$

������ QLFKW�VSH]LILNDWLRQVJHUHFKWHU�.RPSRVW 09$

���� $EIlOOH�DXV�$EZDVVHUEHKDQGOXQJVDQODJHQ�D��Q�
J�

������ 6LHE��XQG�5HFKHQU�FNVWlQGH 09$

������ 6DQGIDQJU�FNVWlQGH 09$��='

������ JHVlWWLJWH�RGHU�YHUEUDXFKWH�,RQHQDXVWDXVFKHUKDU]H 09$

������ )HWW�� XQG� gOPLVFKXQJHQ� DXV� gODEVFKHLGHUQ�� GLH
6SHLVH|OH�XQG��IHWWH�HQWKDOWHQ

09$

������ )HWW�� XQG� gOPLVFKXQJHQ� DXV� gODEVFKHLGHUQ� PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$

������ 6FKOlPPH� DXV� GHU� ELRORJLVFKHQ� %HKDQGOXQJ� YRQ
LQGXVWULHOOHP�$EZDVVHU�PLW�$XVQDKPH�GHUMHQLJHQ�
GLH�XQWHU����������IDOOHQ�

09$

������ 6FKOlPPH�DXV�HLQHU�DQGHUHQ�%HKDQGOXQJ�YRQ�LQGX�
VWULHOOHP�$EZDVVHU�PLW�$XVQDKPH�GHUMHQLJHQ��GLH
XQWHU����������IDOOHQ�

09$

���� $EIlOOH�DXV�GHU�=XEHUHLWXQJ�YRQ�:DVVHU�I�U�GHQ
PHQVFKOLFKHQ� *HEUDXFK� RGHU� LQGXVWULHOOHP
%UDXFKZDVVHU

������ IHVWH� $EIlOOH� DXV� GHU� (UVWILOWUDWLRQ� XQG� 6LHEU�FN�
VWlQGH

09$

������ 6FKOlPPH�DXV�GHU�:DVVHUNOlUXQJ 09$��='

������ 6FKOlPPH�DXV�GHU�'HNDUERQDWLVLHUXQJ 09$��='

������ JHEUDXFKWH�$NWLYNRKOH 09$��='

������ JHVlWWLJWH�RGHU�YHUEUDXFKWH�,RQHQDXVWDXVFKHUKDU]H 09$

���� $EIlOOH�DXV�GHP�6KUHGGHUQ�YRQ�PHWDOOKDOWLJHQ
$EIlOOHQ



������
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������ (LVHQ�XQG�6WDKODEIlOOH� 09$

������ 1(�0HWDOO�$EIlOOH� 09$

������ 6KUHGGHUOHLFKWIUDNWLRQHQ�XQG�6WDXE�PLW�$XVQDKPH
GHUMHQLJHQ��GLH�XQWHU��������IDOOHQ

09$

������ DQGHUH� )UDNWLRQHQ� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������IDOOHQ�

09$

���� $EIlOOH�DXV�GHU�$OW|ODXIEHUHLWXQJ

������ JHEUDXFKWH�)LOWHUWRQH 09$

���� $EIlOOH�DXV�GHU�PHFKDQLVFKHQ�%HKDQGOXQJ�YRQ
$EIlOOHQ� �]��%��6RUWLHUHQ�� =HUNOHLQHUQ��9HUGLFK�
WHQ��3HOOHWLHUHQ��D��Q���J�

������ 3DSLHU�XQG�3DSSH 09$

������ .XQVWVWRII�XQG�*XPPL 09$

������ +RO]��GDV�JHIlKUOLFKH�6WRIIH�HQWKlOW 09$

������ +RO]�PLW�$XVQDKPH�GHVMHQLJHQ��GDV�XQWHU���������
IlOOW

09$

������ 7H[WLOLHQ 09$

������ 0LQHUDOLHQ��]�%��6DQG��6WHLQH� 09$��='

������ EUHQQEDUH�$EIlOOH��%UHQQVWRIIH�DXV�$EIlOOHQ�� 09$

������ VRQVWLJH� $EIlOOH� �HLQVFKOLH�OLFK� 0DWHULDOPLVFKXQ�
JHQ��DXV�GHU�PHFKDQLVFKHQ�%HKDQGOXQJ�YRQ�$EIlO�
OHQ� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH� XQWHU� ������
IDOOHQ

09$

���� $EIlOOH� DXV� GHU� 6DQLHUXQJ� YRQ� %|GHQ� XQG
*UXQGZDVVHU�

������ IHVWH� $EIlOOH� DXV� GHU� 6DQLHUXQJ� YRQ� %|GHQ�� GLH
JHIlKUOLFKH�6WRIIH�HQWKDOWHQ

09$��='

������ IHVWH�$EIlOOH�DXV�GHU�6DQLHUXQJ�YRQ�%|GHQ�PLW�$XV�
QDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ

09$��='

������ 6FKOlPPH�DXV�GHU�6DQLHUXQJ�YRQ�%|GHQ��GLH�JH�
IlKUOLFKH�6WRIIH�HQWKDOWHQ

09$��='

�� 6,('/81*6$%)b//(� �+$86+$/76$%)b//(
81'� b+1/,&+(� *(:(5%/,&+(� 81'� ,1'86�
75,(//(�$%)b//(�62:,(�$%)b//(�$86�(,1�
5,&+781*(1��� (,16&+/,(�/,&+� *(75(117
*(6$00(/7(�)5$.7,21(1

���� *HWUHQQW�JHVDPPHOWH�)UDNWLRQHQ��DX�HU�������

������ 3DSLHU�XQG�3DSSH�.DUWRQ 09$

������ *ODV ='

������ ELRORJLVFK�DEEDXEDUH�.�FKHQ��XQG�.DQWLQHQDEIlOOH 09$��.$�:h

������ %HNOHLGXQJ 09$

������ 7H[WLOLHQ 09$

������ 6SHLVH|OH�XQG��IHWWH 09$

������ )DUEHQ�� 'UXFNIDUEHQ�� .OHEVWRIIH� XQG� .XQVWKDU]H�
GLH�JHIlKUOLFKH�6WRIIH�HQWKDOWHQ�

09$

������ )DUEHQ��'UXFNIDUEHQ��.OHEVWRIIH�XQG�.XQVWKDU]H�PLW
$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU����������IDOOHQ�

09$

������ 5HLQLJXQJVPLWWHO� PLW� $XVQDKPH� GHUMHQLJHQ�� GLH
XQWHU����������IDOOHQ�

09$

������ $U]QHLPLWWHO�PLW�$XVQDKPH�GHUMHQLJHQ��GLH�XQWHU���
������IDOOHQ�

09$

������ +RO]�PLW�$XVQDKPH�GHVMHQLJHQ��GDV�XQWHU���������
IlOOW

09$��.$�:h

������ .XQVWVWRIIH 09$

������ 0HWDOOH 09$��='

���� *DUWHQ�� XQG� 3DUNDEIlOOH� �HLQVFKOLH�OLFK
)ULHGKRIVDEIlOOH�

������ NRPSRVWLHUEDUH�$EIlOOH� 09$��.$�:$��.$
:h

������ %RGHQ�XQG�6WHLQH 09$��='

������ DQGHUH�QLFKW�ELRORJLVFK�DEEDXEDUH�$EIlOOH 09$

���� $QGHUH�6LHGOXQJVDEIlOOH

������ JHPLVFKWH�6LHGOXQJVDEIlOOH .$�:h���QXU
JHWUHQQW�JH�
VDPPHOWH
RUJDQLVFKH
)UDNWLRQ

09$��.$�:h

������ 0DUNWDEIlOOH 09$��.$�:h

������ 6WUD�HQNHKULFKW ='��QXU�0DVFKL�
QHQNHKULFKW

09$��='

������ $EIlOOH�DXV�GHU�.DQDOUHLQLJXQJ 09$

������ 6SHUUP�OO 09$



������

%HNDQQWPDFKXQJ�GHU�%RGHQULFKWZHUWH

'HU�*XWDFKWHUDXVVFKXVV�I�U�*UXQGVW�FNVZHUWH�LP�.UHLV�$DFKHQ�KDW�QDFK�������$EVDW]���GHV�%DXJH�
VHW]EXFKHV�XQG�QDFK������GHU�9HURUGQXQJ��EHU�GLH�*XWDFKWHUDXVVFK�VVH�I�U�*UXQGVW�FNVZHUWH�%RGHQ�
ULFKWZHUWH�I�U�EDXUHLIHV�/DQG�XQG�I�U�ODQGZLUWVFKDIWOLFKH�1XW]IOlFKHQ�]XP�����'H]HPEHU������I�U�GDV
6WDGWJHELHW� HUPLWWHOW�� 'LH� %RGHQULFKWZHUWH� ZXUGHQ� LQ� %RGHQULFKWZHUWNDUWHQ� I�U� GHQ� .UHLV� $DFKHQ
HLQJHWUDJHQ�XQG�LQ�HLQHU�/LVWH�]XVDPPHQJHVWHOOW�

'LH�/LVWH�OLHJW�LQ�GHU�YRQ�GHU�6WDGW�%DHVZHLOHU�RUWV�EOLFK�EHNDQQWJHPDFKWHQ�=HLW�DQ�GHP�DQJHJHEHQHQ
2UW�DXV�

$XFK�DX�HUKDOE�GLHVHU�=HLW�NDQQ�YRQ�GHU�*HVFKlIWVVWHOOH�GHV�*XWDFKWHUDXVVFKXVVHV�$XVNXQIW��EHU�GLH
%RGHQULFKWZHUWH�YHUODQJW�ZHUGHQ�

$DFKHQ��GHQ�����������
'HU�*XWDFKWHUDXVVFKXVV

I�U�*UXQGVW�FNVZHUWH
LP�.UHLV�$DFKHQ

(YHUV
9RUVLW]HQGHU

'LH�/LVWHQ�N|QQHQ�LQ�GHU�=HLW�YRP������������ELV�]XP������������LP�9HUZDOWXQJVJHElXGH�%DHVZHLOHU�
0DULDVWUD�H����=LPPHU������ZlKUHQG�GHU�DOOJHPHLQHQ�6SUHFK]HLWHQ

PRQWDJV�ELV�IUHLWDJV
GLHQVWDJV�]XVlW]OLFK
GRQQHUVWDJV�]XVlW]OLFK

�������������8KU
��������������8KU
��������������8KU

HLQJHVHKHQ�ZHUGHQ�

%DHVZHLOHU��GHQ�����������

'U��/LQNHQV�
%�UJHUPHLVWHU


